S SO,
e VMHOKBTE JIECATHYHBIE IPOOH HA OTPHIATEIbHBIE
Y R pEES

A7 5 1®lEemes 0 CTETICHU JIECSITH.

WUms: Jata: ___ Ouenka:___
8080, 2 x 0.001 = 4407, 8 x 0.0001 =
7329,5% 0.1 = 3525,4 x0.001 =
5522,9 x 0.1 = 2427,6 < 0.001 =
3492,7 x0.01 = 7197, 1 %x0.001 =
6968, 6 x 0.01 = 5993,2 x 0.001 =
4609, 1 x 0.1 = 7746 % 0.0001 =
8213,8 x0.01 = 4868, 9 x 0.01 =
1907,7 % 0.001 = 6930, 7 x 0.0001 =
6670, 5 x 0.0001 = 6664, 8 x 0.001 =
3064, 2 x 0.0001 = 7946, 1 x 0.0001 =

www.snowmath.com


https://www.snowmath.com

